
 

 

*********************  Mathematical Weekly  ********************** 
(week fifteen) 

 
 

Math Quiz 
 
 
1. Find 3 natural numbers, x  > 1, y  > 1, and z  > 1, such that 

zy xx −+ )1(  = 1 
    I found one solution: x  = 2, y  = 2, and z  = 3. And you? 
 
2. Find 3 natural numbers, ,,, zyx  such that 

zyx cba =+    subject to    1111 <++
zyx  

where cba ,,  are also natural numbers without prime factors in common. 
 
    I found 10 solutions: 
 

321 +n  = 23 (for any n  > 6) 
425 372 =+  

923 2137 =+  
237 71172 =+  

245 122113 =+  
237 210639287627117 =+  

723 6522134591414 =+  
238 300429079622243 =+  

328 15613154903433 =+  
723 113153122839262 =+  

 
And you? 
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